S5 LHwE (ERLEE) Nod

1. ROMEIZE AR SV,

(1) A= {z|zX16 DIEDKEK }

.

(2) A= {r|lziX, 2*+4o0+4=0 %= 38H}

pia

(3) A={nniE3 THD L 1R IHTOHRE }

(4) A= {z|z %24 DIEDOKHL }

%

(5) A={6n—>5|n=2,4,6}

(6) A, BOHEGORRZ, D+ C+ =TRLRI,
A=1{3,6,9}
B = {3z|z IXBRE}

.

(1) A,BOHEEOEKE, D C - =TRLRIL,
A = {10, 20, 30, 40, 50, 60, 70, 80, 90}
B = {bn|n 1ZTAKRE }

3

(8) A, BOEADEREZ, D - C - =TRLZREW,
A={n|ni%, =10 <n < 10 &7 385 }
B={nnix, —10 =n = 10 &= 3% }

i

(9) A,BOHEEDOEKRE, D C - =TRLRIL,
A={nlnix. 1HOBRE}
B ={n|ni. —5<n <10 Zim/= 38K }

%

(10) A, B D#ELGDOBFREZ, D+ C - =THELZRIV,
A=1{1,3,9}
B = {n|n X9 DIEDOKEL }




S6cwmE (BEREER)  No.2

1. ROMBEIZEZ 72 S0, (6) A,BOHEEGDOEMREZ, D C+ =THKLRI,
A= {n|n %8 DIEDOKIAL }
B={1, 2, 4, 8}

(1) A={n|nix5TED L ARD 1HiDHBEK}

.

v (7) A,BOEAOREKE, D C - =TRLARS,
A= {n|n 1T 1HIOEDMEE }
B={n|n X2 4 DIEDOKE }

(2) A= {z|lz*+52+6=0}

3
73 ®) A, B OEADEHRE. O« C - =THLAI,
(3) A= {n|n 1313 TEID L 11 45 240 H R ) A={A.B.C.D. X. Y. Z}

B={A,B.C. Z}

.
. (9) A, BOHEADOEEE, D+ C - =THLAES,
4) A={zlz ¥ -56<z=1%mdEHL} A={2, 4, 6, 8}

B ={n|n X2 D%}

%

%

(10) A, B DEGOMKEE, D C - =TRLZRIV,
(5) A= {x|x %49 DIEDOKIHL } A={nni¥2 DIEDOKE }
B={1, 2, 4, 8}




SELwE (ERLEE) Nod

1. ROMEIZE AR SV,

(1) A={z|lzit. 1=z <20 &0+

&

(2) A={nn X 1#roFEHK}

pia

(3) A= {z|z %24 DIEDOKIEL}

(4) A={z]z ¥, -2 <z <2 ZmIHEL}

%

(5) A= {nln 1 1Ko H %)

(6) A,BOEADREKE, D C - =TRLARS,
A= {n|n 1T 1HTOEDMEE }
B={nnlx2 4 DIEOKE }

.

() A, BOEGORKRE, D C - =TRLRIV,
A = {n|n ITEERARORFF DL AT }
B = {n|n (TR BE R OB T ORIFOX AT }

3

(8) A, BOEADEREZ, D - C - =TRLZREW,
A={nniZ1 2 DIEDKE}
B = {n|n X6 ODIEDKH }

i

(9) A, BOHEEGDOEFZEE, D - C - =TKLRIV,
A = {10, 20, 30, 40, 50, 60, 70, 80, 90}
B = {bnn 1TBHKH}

%

(10) A, B D#ELGDOBFREZ, D+ C - =THELZRIV,
A= {n|n %8 DIEDKIHL }
B={1, 2, 4, 8}




SeLHE (EXRLEE) Nod

1. ROMEIZE AR SV,

1) A={z|z X, -3 =z <3 &35}

.

(2) A={nn X3 THD L 24D 1HTOHRE }

pia

3) A={2n—1nix, —1=n =2 &= 9%}

4) A={nniX1HroBA%REK}

%

(5) A={nnE3 THD L 1R IHTOHERE }

(6) A, BOELSDOEFZEE, D C -

(7)

(8)

9)

(10)

A={3,6,9}

B = {3z|z IXBRE}

.

A,BOEAROBRE, D - C -
A={n|n XA }

=TERLZEIW,

B = {2n|n XAKRE }

.

A, B DEGDORKRE, D C -
LA A%}

A={n|n i,

—TRLAE,

=THRLZREW,

B ={nlni¥. =5 <n <10 &= 955K }

i

A, B DEGORREZ, D - C -
A={2, 4,

6 >

8}

B={n|niI2ofEk}

%.
A, B DEGDORKRE, D C -

A= {n|n %8 DIEDKIHL }
B={1, 2,

=THELZIW,

4 >

8}

=THERLZREW,




SELHE (ERLEE) Nob

1. ROMEIZE AR SV,

(1) A={z|lziE, 2?2 —x—6 =0 &/~ TEK )}

.

(2) A={nn X 2#DOIED 1 9 DfEE }

pia

(3) A={nniE5 THD L ARD IHIOHRE }

(4) A= {z|z %24 DIEDOKHL }

%

(5) A= {z|z %49 DIEOKIEL }

(6) A, BOHEGORRZ, D+ C+ =TRLRI,
A={nnix1 2 DIEDOKE }
B = {n|n X6 OEDKE }

.

() A, BOEGORKRE, D C - =TRLRIV,
A={nlnliE. —10 <n < 10 ZW7= 385 }
B={n|nl¥, —10 = n = 10 Z3i/=3%% }

3

(8) A, BOEADEREZ, D - C - =TRLZREW,
A={nn X1 HiOFHk }
B={2n+1nl¥ 1=n = 3 /=355 }

i

(9) A, BOHEGORBRE, D C - =TRLRIL,
A={1, 3, 5, 7, 9}
B={nnix1 7 %0&F¥k}

%

(10) A, B D#ELGDOBFREZ, D+ C - =THELZRIV,
A={nlniX10 5 20 ETOFEK}
B = {10, 11, 12, 13, 15, 17, 19}




